o(d @) (rad)
a(d cot(d))

1072

T
R

-
S
w

Ratio

0 1 2 3 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[y
TTTT] T T

W[
|
N
|
LN
o

0.5

—=— DQM_mkFit_TTbhase
—— DQM_mkFit_TT_retrainOldFiles125_v2_prelimWP_5iter
=~ 1I—— =~ I
= Lol e [
5] - o -
= [: = [:
> - Y —~ -
H o]
5 L. L.
I (e
o L. . g .
o] "
107 =T EHe 11 107 ‘

01072 PO I O OO 1L O 1 P O O PP 01072 PP P 1 O L O PP 1 P P O I P P
= E : : : = 1.2F L EREEEE FRREEEN -
© 1.5F- SN A N @ F 1 1
o E h ] o j1=3 | ERPPERP - BEPEE - {1-

E. 1 I O U TR S E : 3

1E N } h 0.8 o HRARRER 1 1

R L X S0 SO0 || S O S
- -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA- to beamline)

~ e

= [ o

[ R 6 1 U I R e o) A I A EQT 14 —

o

e [ L.

© :

o103 LU UG L L O

g : : E E E

e R F R i1t 2
-3 2 -1 0 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


